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i 1 2 3. v
T
H"." 4 :  Hp 3
i"'.:lg = a !- 1
T 2 1 H 2 ]
4 8
Poog A 3
x
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1) Contrast stretehing as per the characteristics given in ﬁgm'{ﬁ}: :
2) Draw the histogram of original and new image ;

1) Equalize the histogram
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i.E.

il Cuestion no.d is camprulsony

i) Solve any thrae from the FEMaining five cuestiong
a L uBsk

1 A Howdoes OFDM proyige high data rate? )

B Micracell 2n i
N concept helpsin IMproving capzgity of 2 callular system . Justify. a

Li1

C  What is 2ofoware Lefined Radin?

[ Differentiate betwean Reylelgh and Rican distribiition. 5

2 A While designing a cellulzr system how are co-channe! and adjucent channel au
interferences kept under control? What is the rola of 51 ratic 2nd Qin this?

B Draw neatly and explain the role |JI:;|'..-|_-|:| by warious entitles in the G3M 10
architecture.
3 A Describgthe frequency and chiznne! specifications of forward channelsin 10
COMAL T
g8 [xplain the Handoff and power contrel in 35 syslems . 10
4 A& _Ell.-e thie rnzur: fe arurei-.rj-f -H*.'EDI".'l.'-'I.-and’flml_.l are they different from COMA 3000, 10
¥ E. E:-abmate on the mntfrbutmn af- M:r-.d-:] taelnigquas in LTE. 10
3 A :Discuss the frames and- sints in LTE. What is a Resource Block? 10
B Classify 5rna|| crale fading based on Multlpath Time Delay Spread end Doppler 10
spread. i
f Wirite notes am[any twa]

h]RAKE Receiver ch Irunking & GO%

a)indoor propagation Medels

d]G5M authe nlication & securl

ahhagtag Fhbal

Al wsamnuw_mm TAIEII4VIEATRAIN
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- Q.P. Code : 27410

[Time: Throee Hours]

Please chock whethap
KB 1) Question ng, 1 s compulsary

] ¥ Eh“:"E ql'ﬂst]ﬂ||5f|‘f:lﬂ1]'|:|| 1ini g[t i ;
= . 1AL l]lf].'\tlf]l'l!'l-.
3] }'lE,'Lll'ﬂ& ta the tight indicate ful| marks,

¥ou have pot the ripht question paper.

(a] Define Fresnel Reflection, i UItericg]
[b) Differentiale APD and pIy caile,

[¢] Drefine Splicing, Mention jts tvpes and limitations
(d) Define Four Wave Mixing (Fuh) |

Aperture and V-number.

(2] E:_-:pla[u DT_DRWWHHE principle ity detajl, Menlion its limitatian.
[b] Dscuss different types of Dispersion in optical fiber,
(e} What is DWDM? Mention ies advantages and disadvantages,

{#) Explain in briefany two Fiber Fabrication Tech nigues.

(b) Explain working prineiple of LASER source used in optical fiber communicatio.

(¢} Cennpare Circulator and isolators,

(a) Derive an expression for Link Power Budyet Analysis of optical iher.
(b] Explain EDFA amplifier. Mention its advantages.
[c} Explain Macro Bending lass.

(a) Explain Optical Salety and Cross talk,
[b) Derive an expression for Power Penalty with Impairment.

Write short note onany twi: - ==
(2) SONET / SDH

[b] OTDM :

() _ﬂptfr:e] Access Netwark

(d) Wawelength Stabilization

L TR i “opob e wi il ok bbb o
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z v atlempl any ipee :Lican
i Astume Eultab|e i ; i, S ol
additional dara | ira
4. Fipures in birg o i

chets on ghe tight hund zide indjcyle full marks.

(A)  Explain the working of Chirectiona) Coaipless,

Tl ; (03}
'I_i:} hf‘:]'ll'ﬂl-_n travelling wave wbe 1e g0 wmplifier (03]
(0} What is meant by RADAR cuppey 3 (03]
(0} Explain wnrking of BARITT. . (033

Lo AA) With & neal functional dig FUML Explsin ] S TR Ch
Mapiihos Eruml explian m_m_urnr&mg principle of Cylindrical (10

(B)  Radar nperating at 1.5 GHz s
range of 100 nmi lor ubjects whose mdur erose seclion is | m’. I the
lmmum reesivable power of the receiver is e Wan, what js the
ntenni, reflector conld have dEsuming it u be a

e5 a peik polse power of 2.5 MW and has a [1i1)

smillest diameler of the anenn
full parabuoloid with i L

T el

3. (A) State various modes of Gunn dinde and explain 20y one'of therm in detail. (L0
(B} Explain D-::.p;:-[r:r Shult and ins m].c'm Fulsed and OW RATIAR. £
. (A} Explain intrument lending system for ?'-i“-:‘“_h ﬂ_ﬂ?igu!iﬁf:l- : (14
{B) - March aload impedanve 2,=60480 1 a 50 0 line using a double sth tuner. {10)
F'I-l":'s‘l.ut?s. rre.open cictiled and are spaced MR apart The matcl fraquency
is2CHe - ' i
Jo Ay CDisciss the varjous freguency basids and Chinetetisticos of Thicrowayes. (0
(B .':‘L’Jl'j_1r-'it Si:ICII.'|: ot oo r-:ek;[g;igul;u'tlr'u?j:guidt. ; ()
6. [Ay Give the working of Twy Cavity Elystron.. | (10}
(18, With black diagram explain the MTT radar system, Give its limitarions, 01
i L : 'A_: '..-f'::-t" i -____-'_.._ s E '.: Q;_-".;.'_.is-;f-g-pin-tmt:t:m
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Time: 3Hours | widrghs ; i
Marks:
NG (1) Question No,| i cempulsony
(2) ‘:f:]vc any lheee qUestions I'n.-':-ln tle
(3 Figures o the right indiz
(4)  Assume suitable datg o7

remining five.
ale fill marks

reriined and mendjon the same fn the answer sheel.

1 Solve any [cur

Lt o 20
; Draw basi T : Frck Rt e : S
" refercnce -:Iﬁrf;ﬁm mimar and derive expression for output current b i tezns o
I::l..'} ]--u']-_th': Elﬂg.ll: E-].Egﬁ I'-Lﬁ‘is-‘l'l'l.'ﬂ ]l'_lll,d_ -I:E ﬁj]ﬁ!iﬁ-gr “jgllcn,-,ﬂ,mﬁgl ]H: :'|I|r|-_"]-.—51||lr1
1"“"“"!:"5"'!1_ F“ﬂcflﬂﬁuﬁiwlllf?u and Rn=] K. Find-iaput oltige swing and
COTRES PURLING outpt voltage e e !
I"‘rj:-.:l SRR
Hu. "' w ks e >
Vo S Ny
*rh ﬁ_| ”1 : ' - EE ;
fc] For KMOS deyice with "'.i'.-’—l|}'r:|m7 L0 3l i-_im-l'f!m?i""?.-:“’r ise Lo
frequancy ts mesisured (0 b2 S00kHz: [r“1u:|x-.-:'.ll:l.-"-_"",.'.1.'l1ulmi_~ﬁﬂu:F.'.:r:u;]m coeflicient
K o this fethnolegy, <20 500 S ST e
(1 What iz thermal noise? How Tn__m!:_-:[_;[__t_l‘.% SAG m_I-.rTﬂ._':_ti.i"
fz) Disr';i:ls.l::;-u.rimis}pcrfqr@!.ah._:q_p::__n!grg:qm_qrﬂq!n:gam_lnr.
- l Gor o o . . i .“: ‘:- : . L-I e i [IHEI s
1 u)  Explain design procedure to desigh 2 slage pr.m:-n_ﬂiI tJTu.tI!:u; L'-r’.J‘rarc<--|ri::
(OFT A using appropriats equations L= izl The EFIl:i;Ij'J...E.:L-\:!-I'IS.I E o r|_._ g
{Av), Gain Bandwidth {OR), Slew Bate (51, Powsr Dissipaken (Pl LRI
i foltnge Runp.
de Tanee {ICMRYL i:!m;uu_ﬂnhugn:_ ! . T S
b} &?Tlﬂi"::qr;{"l:lcif l;-:?:l:ll'lzenmlli-.'ln (5 Meggssary Tor U'J"-‘J*"l"-"]lly uenpliffer. Explocn 3
4 hI;I:Ircr's conpen sation techrigre with el 10 tavw stage UTA.
. o

Cxpluin 3 -,;.-.-t:.Lil 'r'rcrk_il'l';r_':-f-gl,-..-it-:h:ﬂ capacitor Ampliticr with nel circuil dizgeam
S5 (a), Cxplui ookl ARV S e 0ot | e
h and Iﬁ?F‘IDprmh—' '-ﬁﬁiﬁjﬂhhiﬂhruntiul smplifier o 2:ect L r'r;l._'m'rm_r_g_ _=\._|:|_a:||._|l_-\-:|umﬂ o
i DES!EH..D““EHIL o ntiig| voltugE 2Ain Ao Y, hugher uul—nrfﬂ-ﬂIII!E_r'G-':' ";:E
smail-steral A0SR s, G Spt Impn ccunnon Modo Rirge (1R =-
lﬁﬂq:'{”zé EEI‘:T Fl’.ll'l'r'o::;' L'-'I%::i'i|:l!1li|'.ll1 mmﬁmﬁlﬁ-ﬁ};}fﬁi' Ves=-3.5V, Use
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{a)
(b}
(c)
()
{e)

wh
Explain with the hclp of soitahle eme’EE i .::': s
single vollage source in scries with II1]'.IlIt i5 Incomj
input. How this problent is vercone?

With the help of suitable bluck diagrait,

Approximate Repister (SAR) ADC.
With the help of circuit diagram and ap]-n'c:-]:l

respanse of differentizl amplificr,

Consider 4-bit DAC with following meps ey

DML and THL. Does this DAC ;:-mw.rldna 4-bit resolytion?

100003 105:0,625:1.0375:1. 32 1.5625:0 TSE F. IE'.'I'S 2, 5 1 HlEJ :

1.125:3.8875:3.75:4 0625 145&54 ﬁsa‘f}

-\.-\.l

Write short notes on any f.;.ur :_ raay

Compurator Design. .2 770 o =~ ';:m"._“ g 0
Cyelic DAC gk T N S e e R
: :\'\.' L* =
Beta Multiplizr ] g )
o - L Sty
Mixed Signal Ln},n::-m !mm oA e
T
HE[:-J'!:HEL]T:LIL-:Jn DI hnlsc l|1 L.Jr:u:ts. s A
; e S T R
. '\.-:\. i :;. T f‘. : S 5
s R e 5 5 i
..: . . = Y, T
=% R Ty L)
- . RN Y \: G e _3\- b 3
A G

:‘JE].EU :

input referred noise modeled iy

Q.P.Code: 2634,

f
sentation of noise at 1h,

axplain working of Successive i

',-131‘-' 1..,Fw.gﬂ;.:-mrm-‘:z':]:ll*eun common made |

l-::lut];lut w::-l:nge mth ‘v’nr—S"i." Fmd 1.1:'

[ iy
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Time: 3 hours Marks: 80

I is compulsory, 8
0. [ _1,= ‘2{:-]1... any 3 questions from remaining 3.

h
BI® £Ver necessary with proper justifization.

(.1 (a) What is the significance of model; i

compression? 0 and coding in data (20)

(b) What are the goals of crvptography? Explain any ane in detail. R T

{c) List tﬂchmques wsed Top | A U0

or lossless | unaga COmression. e T W

(d) Solve the following e fEs Lt
{i} 4" mod 55 A o hErbitrary 2]
(i} 3 " mod 13 i ek atum E oA ot I o R £
(ii) 6 mod 17 C s ey
{1v) Euler's foleint function ':I"l:"-mj A e ==

Q.2 (o) W ‘hat is ﬁ'E':]UE'DL:r’ and ! L-:mpnm[ i‘ndﬁhng‘? E';rp:mn ]mw Jt is I.J‘1EI’-"| {1["]
and implemented in MP3 audio compression:
{1} Explain Dhftie [Iellmun Kw c:{cha'ine Wlth the help-afan t?.alllp]t {10

0.3 {a)Explain standard JFLD ".’-ﬂ[l :1&51! hlnqk‘dlaglam 'ir1'|'h-tll are- - (1)
advantages of [ PLL- Eﬂ{}'l] oVer, 'itﬂ.l'ldﬂ.ll'_i' .T PEG‘? Justl_ﬁ' the ke m‘" I5
CT in JPEG? & 5 .05 Tt Pt
s (10}

(b)Explain R‘? ﬂa m deturland a]sa chy:uemfmm {III [h,%

—\. e -\._ -\.. il - "'\-\.

Q4  (a)State fnl!]uw.ng fil1a:+:1r-.=,nn~r m-.h Thear ﬂpphcaimna i tr}’p[‘ugmph}' (10}
(i) Fn:rmnts Thearcm [uj Eu]::r 3 Thmrem [m} Ctuncsc Femainder

heorem:
s ; .md MHL ﬁl]’lﬂlﬂl‘tb mth 1[~¢erh. in cr:,rph}graphw (107

{I::jl E:l-:phln Hash
i) t‘H ey =0.Lp{d=0.4  (10)
I_]s::lnl-,' “arithmetic coding

.-'

(13 (ﬂ} Ccmmder 1E:|e j:lrﬂl‘-lﬂbi[.ltltb p{a}r ﬂ E p
~.Encogde and dscude hie m:qn_.lam:-e -d.bﬂﬂl:lx

| hggb?i‘jr:g;? 15- .JE';J.Iu;Jtmn c:;mhpﬁaﬂirun and Mﬂtlnn Estimation in video (10)
{2 EDET;IJ'FﬂhﬂlDI'IT Explain Tiow ﬂtew are USE& in MPEG video compressian

- awith apprnpnah bI m:}c dmg;,ram

'. '[E'E :. ..f[d}Enr:-uh and de-::crdc ti1E scqucncu: Eﬂhﬂbbl‘-ld].‘lhdl:ﬁ using LETS. {109
" Compare LZ77 and LZT8. "
(h) Write short notes(Any t-.w_‘.l

(i) p Law and A Law Companding

(ii)Fire walls
({ii} Intmders and viruses

p***ﬂﬂ*#***+*

Scanned by CamScanner



